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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 0.00 ~ 497 61.958 | FnLSY | 0.00 ~ 0.00| 1.63 873 Thlst 1.00 | 6.00 ~ 5.40 61.98 | Thst | 6.00 ~ 6540 1.63 873
2 100kN/m%E#8Bz5| 1.00 | 000 ~ 145 12205 |3m&E#BZB| — ~ — — — | 100kN/miZ#825 | 1.00 | 11.22 ~ 1752 122.05 |3m%EBZ5 - ~ — — —
s 1.00 | 1.45 ~ 923 100.00 | #nLst | 0.00 ~ 9.23| 2.20 11.77 Thst 1.00 | 6.00 ~ 1122 100.00 | =nLSt | 6.00 ~ 1752| 2.20 11.77
3 100kN/m%E#8z5| 1.00 | 000 ~ 1.83| 12816 |3m&x#Bz5| — ~ — — — | 100kN/m%#825 | 1.00 | 1058 ~ 1752 12816 |3m&E#BZ% - ~ — — —
st 1.00 | 1.83 ~ 962 100.00 | #nLst | 0.00 ~ 9.62| 2.32 12.43 st 1.00 | 6.00 ~ 1058 100.00 | =hLst | 6.00 ~ 1752| 2.32 12.43
4 100kN/m%E#8z5| 1.00 | 000 ~ 1.78| 12731 |3m&E#BzZ3B| — ~ — — — | 100kN/ Mm% x5 | 1.00 | 11.74 ~ 2241 127.31 |3m%Ei#BZ5 -~ — — —
ZhLst 1.00 | 1.78 ~ 9.56 100.00 | #hst | 000 ~ 9.56 | 245 13.13 st 1.00 | 6.00 ~ 11.74 100.00 | #nLS | 6.00 ~ 2241)| 2.45 13.13
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s 1.00 | 1.58 ~ 9.37 100.00 | #nLst | 0.00 ~ 9.37| 2.29 12.28 Thst 1.00 | 6.00 ~ 10.66 100.00 | =hLst | 6.00 ~ 1651|229 12.28
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s 1.00 | 1.41 ~ 9.19 100.00 | =nLst | 000 ~ 9.19 | 2.24 12.00 Thst 1.00 | 6.00 ~ 1089 100.00 | =nLst | 6,00 ~ 1630| 2.24 12.00
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FhList 1.00 | 0.00 ~ 627 65.66 | Ths | 0oo ~ 527|177 947 Fhst 1.00 | 6.00 ~ b6.70 65.66 | TN | .00 ~ 670 1.77 9.47
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Thsn ~ ZFnLst ~ ZznLst ~ Zzhus ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
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zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




